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Go on to the next page.
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(A) The train is definitely going downtown.
(B) The train is probably going downtown.
(C) The train is probably not going downtown.
(D) The train is definitely not going downtown.
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What does the man mean?

(A) The train is definitely going downtown.
The train is probably going downtown.

(C) The train is probably not going downtown.

(D) The train is definitely not going downtown.

F(ZZT%) : Excuse me. Is this train going downtown?
M(EE1%) : | would imagine so.
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(A) Leafless/mistletoe can be used as a water supply.

(B) Mistletoe does not flower.

(C) Only leafless will hosts.
(D) Some types o
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on their own.
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What can be inferred from the conversation?

(A) Leafless mistletoe can be used as a water supply.
(B) Mistletoe does not flower.
(C) Only leafless mistletoe will parasitize hosts.

@ Some types of mistletoe _on their own.
[EZDF—TL—X]

... and it can photosynthesize and produce carbohydrates.
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(A) The evolution of honeybees

(B) navigation

(C) Honeybees’ communication
(D) The society of_
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What is the talk mainly about?

(A) The evolution of honeybees
(B) Honeybees’ navigation

(C) Honeybees’ communication
(D) The society of honeybees

[EZEDF—IL—X]

Honeybees have a highly evolved navigational system.
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